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1. Two coins (a one rupee coin and a two rupee coin) are tossed

once. Find sample space.

° Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_qyR4X8tSI4tl

2. The number of outcomes in the sample space of the random

experiment of throwing two dice is...a)6"3

° Watch Video Solution

3. In each of the following experiments specify appropriate
sample space

i) A boy has a 1 rupee coin, a 2 rupee coin and a 5 rupee coin in
his pocket. He takes out two coins out of his pocket, one after
the other.

ii) A person is noting down the number of accidents along a

busy highway during a year.

o Watch Video Solution



https://dl.doubtnut.com/l/_i2xOAlnrIsZF
https://dl.doubtnut.com/l/_mgXT8PVHAyIN

4. A coin is tossed. If it shows head, we draw a ball from a bag
consisting of 3 blue and 4 white balls, if it shows tail we throw a

die. Describe the sample space of this experiment.

° Watch Video Solution

5. Describe the sample space for the indicated experiment. A

coin is tossed three times

° Watch Video Solution

6. The number of outcomes in the sample space of the random
experiment

of throwing two dice is........

° Watch Video Solution



https://dl.doubtnut.com/l/_wdXmpzqf4OJu
https://dl.doubtnut.com/l/_hJ0xv84804H5
https://dl.doubtnut.com/l/_I7uou0MjZj8c

7.Describe the sample space.A coin is tossed four times

° Watch Video Solution

8. Describe the sample space for the following event:

A coin is tossed and a die is thrown.

° Watch Video Solution

9. Describe the sample space of the given experiment.
A coin is tossed and then a die is rolled only in case a head is

shown on the coin.

° Watch Video Solution



https://dl.doubtnut.com/l/_I7uou0MjZj8c
https://dl.doubtnut.com/l/_25z06u6D5mQM
https://dl.doubtnut.com/l/_ezNeRy5j1oxE
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10. Describe the sample space for the following event:
2 boys and 2girls are in a Room X and 1 boy and 3 girls in room
Y. Specify the sample space for the experiment in which a room

is selected and then a person.

° Watch Video Solution

11. Describe the sample space for the following event:

One die of red colour, one of white colour and one of blue
colour are placed in a bag. One die is selected at random and
rolled, its colour and the number on its upper most face is

noted.

° Watch Video Solution



https://dl.doubtnut.com/l/_XFeHNxqfBAoD
https://dl.doubtnut.com/l/_fRKNoPVKliyT

12. An experiment consists of recording boy-girl composition of
families with 2 children.

i) What is the sample space if we are interested in knowing
whether it is a boy or girl in the order of their births?.

ii) What is the sample space if wé are interested in the number

of girls in the family?

° Watch Video Solution

13. A box contains 1 red and 3 identical white balls. Two balls are
drawn at random in succession without replacement. Write the

sample-space for this experiment.

o Watch Video Solution



https://dl.doubtnut.com/l/_BsF6BtXBx3xi
https://dl.doubtnut.com/l/_TgEd4lqIXaRK

14. Describe the sample space for the following event:
An experiment consists of tossing a coin and then throwing it
second time if a head occur. If a tail occurs on the first toss,then

a dieis rolled one.

° Watch Video Solution

15. Suppose 3 bulbs are selected at randém from a lot. Each bulb
is tésted-and classified as defective (D) or non-defective (N):

Write the,sample space of this experiment.

° Watch Video Solution

16. Describe the sample space for the following event:

A coin is tossed. If the outcome is a head, a die is thrown. If the


https://dl.doubtnut.com/l/_yXuVS5VailHD
https://dl.doubtnut.com/l/_uNMtatMEpQq8
https://dl.doubtnut.com/l/_99wmj10c6YnX

die shows up an even number, the die is thrown again.

° Watch Video Solution

17. The number 1,2,3 and 4 are written separately on four slips of
paper. The slips are put in a box and mixed thoroughly. A person
draws two slips from the box, oné after the other, without

replacemient. Describe the sample space for the experiment.

° Watch Video Solution

18. An experiment consists of rolling a die and then tossing a
coin once if the number on the die is even. If the number on the
die is odd, the coin is tossed twice. Write the sample space for

this experiment.

° Watch Video Solution



https://dl.doubtnut.com/l/_99wmj10c6YnX
https://dl.doubtnut.com/l/_9mXDLerao4zr
https://dl.doubtnut.com/l/_Ozi5fWe9FazY

19. A coin is tossed: If it shows a tail, we draw a ball from a box
which contains 2 red and 3 black balls. If it shows head, we

throw a die. Find the sample space for this experiment.

° Watch Video Solution

20. A die is thrown repeatedly until a six comes up. What is the

sample space for this experiment?

° View Text Solution

21. Two dice are thrown and the sum of the numbers which
come up on the dice is noted. Let us consider the following
events associated with this experiment.

A:the sumis even.


https://dl.doubtnut.com/l/_Ozi5fWe9FazY
https://dl.doubtnut.com/l/_q3yshgk7KWaA
https://dl.doubtnut.com/l/_XhmM1NRwxuE2
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B : the sum is a multiple of 3
C: the sumis less than 4.
D : the sum is greater than 11 Which pairs of these events are

mutually exclusive?

° Watch Video Solution

22. A coin is tossed three times, consider the following events.
A: No head apears,

B: Exactly one head appear

C: Atleast two heads appear.

Do they form a set of mutually exclusive and exhaustive events?

° Watch Video Solution



https://dl.doubtnut.com/l/_vt4w8HfIoFUJ
https://dl.doubtnut.com/l/_So5BgRo6Xsos

23. A die is rolled. Let E be the event "die shows 4" and F be the

event "die shows even number". are E and F mutually exclusive?

° Watch Video Solution

24. A die is thrown. describe the following events:

A: a number less than 7.

o Watch Video Solution

25. An experiment involves rolling a pair of dice and recording
the numbers that comeup. Describe the folloowing events.
A: the sum is greater than 8

B: 2 occurs on either


https://dl.doubtnut.com/l/_FOrW0Dva8njg
https://dl.doubtnut.com/l/_7grPRFfZj9Ms
https://dl.doubtnut.com/l/_m6Bcz96X5YmX

C: the sum is at least 7 and multiple of 3.

Which pairs of these events are mutually exclusive?

° Watch Video Solution

26. Three coins are tossed once. Let A denote the event "three
heads show". B denote the event "two heads and one tail show",
C denote the event "three tails show" and D denote the event "a
head shows on the first coin".

Which events are (i) mutually exclusive? (ii) simple? (iii)

compound.

° Watch Video Solution

27. One card is drawn from a well shuffled deck of 52 cards. If

each outcome is equally likely, calculate the probability that the


https://dl.doubtnut.com/l/_m6Bcz96X5YmX
https://dl.doubtnut.com/l/_QSh54en7zDWz
https://dl.doubtnut.com/l/_f0Bd4LPT5z1X

card will be i) a diamond.

ii) not an ace

iii) a black card (a club or, a spade)
iv) not a diamond

v) not a black card

° Watch Video Solution

28. A bag contains 9 discs of which 4 are red, 3 are blue and 2
are yellow. The discs are similar in shape and size. A disc is
drawn at random from the bag. Calculate the probability that it
will be (i) red, (ii) yellow, (iii) blue, (iv) not blue, (v) either red or

blue.

° Watch Video Solution



https://dl.doubtnut.com/l/_f0Bd4LPT5z1X
https://dl.doubtnut.com/l/_GZIUHIc5gopK

29. Two students, Anil and Ashima appeared in an examination.
The probability that Anil will qualify the examination is 0.05 and
that Ashima will qualify the examination is 0.10. The probability
that both will qualify the examination is 0.02. Find the

probability that both will not qualify the examination.

o Watch Video Solution

30. A committee of two persons is selected from two men and
two women. What is the probability that the committee will

have one man?

° Watch Video Solution



https://dl.doubtnut.com/l/_kGoz2YmplaWX
https://dl.doubtnut.com/l/_wy9jKMHS5vJ0

31. A coin is tossed twice,what is the probability that atleast one

tail occurs?

° Watch Video Solution

32. Adieis rolled,find the probability of following event:

A prime number will appear.

° Watch Video Solution

33. A card is selected from a pack of 52 cards a) How many
points are there in the sample space? b) Calculate the
probability that the card is an ace of spades. ¢) Calculate the

probability, that the card is (i) an ace |(ii) black card

° Watch Video Solution



https://dl.doubtnut.com/l/_rw4G2dybBrAQ
https://dl.doubtnut.com/l/_x2zKYlhLvrsd
https://dl.doubtnut.com/l/_kQMkf6XwtgwR

34. A fair coin with 1 marked on one face and 6 on the other and
a fair die are
both tossed.find the probability that the sum of numbers that

turn up 12.

o Watch Video Solution

35. There are four men and six women on the city council.lf one
council member
is selected for a committee at random,how likely is it that it is a

woman?

° Watch Video Solution



https://dl.doubtnut.com/l/_kQMkf6XwtgwR
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https://dl.doubtnut.com/l/_oQEFb1AkG1Wm

36. A fair coin is tossed four times and a person win Re 1 for
each head and lose Rs. '1.50' for each tail that turns up. From the
sample space calculate how many different amounts of money
you can have after four tosses and the probability of having

each of these amounts.

o Watch Video Solution

37. Three coins are tossed once. Find the probability of getting.
(i) 3 heads

(ii) 2 heads

(iii) atleast 2 heads

(iv) atmost 2 heads

(v) no head

(vi) 3 tails

(vii) 'exactly two tails


https://dl.doubtnut.com/l/_aG6C7hO689Ua
https://dl.doubtnut.com/l/_L7gRG7wSiliB

(viii) no tail

(ix) atmost two tails.

° Watch Video Solution

2
38. If 1 is the probability of an event Athen what is the

probability of the event 'not A?

° Watch Video Solution

39. A letter of the word ASSASSINATION are randomly

chosen. Find the probability that letter is a consonant.

° Watch Video Solution



https://dl.doubtnut.com/l/_L7gRG7wSiliB
https://dl.doubtnut.com/l/_BdGJVs7LPEWX
https://dl.doubtnut.com/l/_k9yGGO9Pv8pD

40.In a lottery, a' person choses six different natural numbers at
random from 1 to 20, and if these six numbers match with the
six numbers already fixed by' the lottery committe, he wins the

prize. What is the prébability of winning the prize in the game?

° Watch Video Solution

41. Check whether the following probabilites P(A) and P(B) are
consistently defined.

P(A) = 0.5, P(B) = 0.4, P(AU B) = 0.8

° Watch Video Solution



https://dl.doubtnut.com/l/_WjTEGSICmqCd
https://dl.doubtnut.com/l/_xmtXQONhuu25

42.Fill in the blank space.

P(A) | P(B)| P(AnB)P(AUB) |
) b G P R B

- S ' it i B
B8 e 1S RIS B v R R 1
TR TE s bl e

° Watch Video Solution

43.Given P(A) = %and P(B) = é

Find P(A or B), if A and B are mutually exclusive events.

° Watch Video Solution

44.If E and F are events such that P(E) =

p(E and F) = %.ﬁnd P(E or F).

| ° wAr_ao_L vl e~_ ..t


https://dl.doubtnut.com/l/_YEIQrO98TtUZ
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45, Events E and F are such that P(not E or not F)=0.25, state

whether E and F' are mutually exclusive.

° Watch Video Solution

46. If A and B are two events such that P(A) = 0.42,

P(B) = 0.48 and P(Aﬂ B) — 0.16 then, find: P(not B).

° Watch Video Solution

47. In class Xl of a school 40% of the students study
Mathematics and 30% study Biology, 10% of the class study

both Mathematics and Biology. If a student is selected at


https://dl.doubtnut.com/l/_zJahLeklobxK
https://dl.doubtnut.com/l/_oBzjneFRxUz2
https://dl.doubtnut.com/l/_sH88P1h5TAd5
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random from the class, find the probability that he will be

studying mathematics or Biology.

° Watch Video Solution

48. In an entrance test that is graded on the basis of two
examinations, the probability of a randomiy chosen student
passing the first examination is 0.8 and the probability of
passing the second examination is 0.7 . The probability of
passing atleast one of them is 0.95 . What is the probability of

passing both?

° Watch Video Solution

49. The probability that a student will pass the final

examination. in both English and Hindi is '0.5' and the


https://dl.doubtnut.com/l/_LK1KRsi3gKrC
https://dl.doubtnut.com/l/_49g73yXZ6PIb
https://dl.doubtnut.com/l/_106kQVhUDTR6

probability of passing neither is '01 .' If the probability of
passing the English examination is '0.75', what is the probability
of passing the Hindi examination. Let probability: of passing

English be 'E' and probability of passing Hindibe 'H'.

° Watch Video Solution

50. In a class of 60 students, 30 opted for NCC, 32 opted for NSS
and 24 opted for both NCC and NSS. If one of these students is
selected at random, find:

The probability that the student opted for NCC and NSS.

° Watch Video Solution

51. On her vacations, Veena visits four cities (A,B,Cand D) in a

random order. What is the probability that she visits i) A before


https://dl.doubtnut.com/l/_106kQVhUDTR6
https://dl.doubtnut.com/l/_NXy6GzBkdeVp
https://dl.doubtnut.com/l/_edgUMypXfwGU

B? ii) A before B and B before C? iii) A first and B last? iv) A either

first or second? v) A just before B?

° Watch Video Solution

52. Find the probability that when a hand of 7 cards is drawn

from a well shuffled deck of 52 cards , it contains all kings

° Watch Video Solution

53. If A, B,C are three events associated with a random
experiment, prove that

P(AUBUQ)=

P(A)+ P(B)+ P(C) —P(ANnB)—P(ANnC)—-P(BNC) +

P(ANnBNCQO)

° Watch Video Solution



https://dl.doubtnut.com/l/_edgUMypXfwGU
https://dl.doubtnut.com/l/_50IJcJUPTcPJ
https://dl.doubtnut.com/l/_sZcXECx2jBk9

54.1n a relay race there are-five teams ‘A, B, C, D' and 'E'. a) What
is the probability that ‘A, B' and 'C' finish first, second and third,
respectively. b) What is the probability that ‘A, B' and 'C' 'are first
three to finish (in any order) (Assume that all finishing orders

are equally likely)

° Watch Video Solution

55. A box contains 10 red marbles,20 blue marbles and 30 green
marbles.

5 marbles are drawn from the box,what is the probability that all
will

be blue.

° Watch Video Solution



https://dl.doubtnut.com/l/_sZcXECx2jBk9
https://dl.doubtnut.com/l/_uvEkk9Ng8kPg
https://dl.doubtnut.com/l/_fXRaXvHBox4D

56. 4 cards are drawn from a well shuffled deck of 52 cards.What

is the probability of obtaining 3 diamonds and one spade?

° Watch Video Solution

57. A die has two faces each with number 1three faces with
number 2 and one face with number 3.If the die is rolled

once,determine P(1 or 3).

° Watch Video Solution

58.1n a certain lottery ticket 10000 tickets are sold and 10 equal
prizes are awarded.
What is the probability of not getting a prize,if you buy 10

tickets.

| - |


https://dl.doubtnut.com/l/_VupxcCJFa0Uy
https://dl.doubtnut.com/l/_GNGTZb622qnT
https://dl.doubtnut.com/l/_a1s2OZOl7ltc

[ W Watch Video Solution ]

59. Out of 100 students,two sections of 40 and 60 are formed.If
you and your friend are among the 100 students,what is the

probability that You both enter the same section?

° Watch Video Solution

60. Three letters are dictated to three persons and an envelope
is addressed to each of them, the letters, are inserted' into the
envelopes at random so that each envelope contains exactly one
letter. Find the probability that at least one letter is in its proper

envelope.

° Watch Video Solution



https://dl.doubtnut.com/l/_a1s2OZOl7ltc
https://dl.doubtnut.com/l/_53TgfYdZ4KP4
https://dl.doubtnut.com/l/_8lnEV4kshMEk

6. A and B are two events such that P(A) = 0.54,
P(B) = 0.69 and P(AN B) = 0.35 Find (i) P(AU B). (ii)

P(A'nB") (i) P(ANB') (v P(BNA'")

° Watch Video Solution

62. From the employees of a company, 5 persons are selected to
represent them in the managing committee of the company.
Particulars of five persons are as follows: A person is selected at
random from this group to act as a spokesperson. What is the

probability that the spokesperson will be either male or over 35

vears?
S. No. | Name | Sex | Age in years
1 | Harish |M | 30
2 Rohan- | M 33
3 Sheetal | F 46
4 Alis F 28
5 Salim M 41



https://dl.doubtnut.com/l/_Aig3s9YfRSyS
https://dl.doubtnut.com/l/_0Ao4SSwIBX56

° Watch Video Solution

63. The number lock of a suitcase has 4 wheels, each labelled
with ten digits from O to 9. The lock opens with a sequence of
four digits with no repeats. What is the probability of a person

getting the sequence to open the suit case?

° Watch Video Solution

64. From a group of 2 boys and 3 girls, two childiren are
selected. Find the sample space associated to this random

experiment.

° Watch Video Solution



https://dl.doubtnut.com/l/_0Ao4SSwIBX56
https://dl.doubtnut.com/l/_ZS8u8SHRMxjo
https://dl.doubtnut.com/l/_XK8LZwin8kZL

65. A coin is tossed. If it shows head, we draw a ball from a bag
consisting of 3 blue and 4 white balls, if it shows tail we throw a

die. Describe the sample space of this experiment.

° Watch Video Solution

66. An experiment consists of rolling a die and then tossing a
coin once if the number on the die is even. If the number on the
die is odd, the coin is tossed twice. Write the sample space for

this experiment.

° Watch Video Solution

67. A coin is tossed repeatedly until a head comes up. Write the

sample space.

| & S |


https://dl.doubtnut.com/l/_Kn5Gdp3IjU3t
https://dl.doubtnut.com/l/_9jqZIuUXExa3
https://dl.doubtnut.com/l/_CPXvgWx7jBaN

[ W Watch Video Solution ]

68. An experiment involves rolling a pair of dice and recording
the numbers that comeup. Describe the folloowing events.

A: the sum is greater than 8

B: 2 occurs on either

C:the sumis at least 7 and multiple of 3.

Which pairs of these events are mutually exclusive?

° Watch Video Solution

69. From a group of 2 boys and 3 girls, two children are selected
at random. Describe the events.
(i) A= both selected children are girls. (ii) B= the selected group

consists of one boy and one girl. (iii) C= at least one boy is


https://dl.doubtnut.com/l/_CPXvgWx7jBaN
https://dl.doubtnut.com/l/_HGz2igfDtcs2
https://dl.doubtnut.com/l/_b3W9CACgIi45

selected.

Which pair(s). of events is (are) mutually exclusive?

° Watch Video Solution

70. Two dice are thrown and the sum of the numbers which
come up on the dice is noted. Let us consider the following
events associated with this experiment.

A:thesumis even.

B : the sum is a multiple of 3

C:the sumis less than 4.

D : the sum is greater than 11 Which pairs of these events are

mutually exclusive?

° Watch Video Solution



https://dl.doubtnut.com/l/_b3W9CACgIi45
https://dl.doubtnut.com/l/_3kuuAoPONTWx

71. Find the probability of gétting a head in a toss of an

unbiased coin.

° Watch Video Solution

72. In a simultaneous toss of two coins,find the probability of

getting: 2 heads.

° Watch Video Solution

73. Three coins are tossed once. Find the probability of getting.
(i) 3 heads

(ii) 2 heads

(iii) atleast 2 heads

(iv) atmost 2 heads


https://dl.doubtnut.com/l/_r5fgmwn5eUDo
https://dl.doubtnut.com/l/_a8ffcs01dMcw
https://dl.doubtnut.com/l/_cMc5GNd6doUy

(v) no head

(vi) 3 tails

(vii) 'exactly two tails
(viii) no tail

(ix) atmost two tails.

° Watch Video Solution

74. A die is thrown. Find the probability of getting (i) an even
number (ii) a prime number. (iii) a number greatér than or equal
to 3 (iv) a number less than or equal to 4 (v) a number more

than 6 (vi) a number less, than or equal to 6.

° Watch Video Solution

75.Find the probability that a leap year should have 53 sundays.



https://dl.doubtnut.com/l/_cMc5GNd6doUy
https://dl.doubtnut.com/l/_Q22Z6p081gqA
https://dl.doubtnut.com/l/_8oOxqlWIsmhM

| @ Watch Video Solution

76. Three dice are thrown together. Find the probability of

getting a total of atleast 6.

° Watch Video Solution

77. What is the probability that a nimber selected from the
numbers 1, 2, 3...... 25 is a prime number, when each of the

given numbers is equally likely to be selected?

° Watch Video Solution

78. Tickets numbered from 1 to 20 are mixed up together and
then a ticket is drawn at random. What is the probability that

the ticket has a number which is a multiple of 3 or 7 ?


https://dl.doubtnut.com/l/_8oOxqlWIsmhM
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° Watch Video Solution

79. A coin is tossed. If head comes up, a die is thrown,but if tail
comes up, the coin is tossed again. Find the probability of
obtaining: (i) two tails (ii) head and number 6 (iii) head and an

even number

° Watch Video Solution

80. One card is drawn from a pack of 52 cards, each of the 52
cards being equally likely to be drawn. Find the probability that
the card drawn is: (i) an ace, (ii) red, (iii) either red or king, (iv)

red and a king.

° Watch Video Solution



https://dl.doubtnut.com/l/_J97DYn2fB10i
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81. An urn contains 9 red, 7 white and 4 black balls. If two balls
are drawn at random, find the probability. that, (i) both the balls
are red (ii) one ball is white, (iii) the balls are of the saime colour

(iv) one is white and other red.

° Watch Video Solution

82.In a lottery of 50 tickets numbered from 1 to 50,two tickets
are drawn
simultaneously.Find the probability that : Both the tickets

drawn have prime numbers.

o Watch Video Solution

83. A word consists of 9 letters, 5 consonants and 4 vowels.

Three letters are chosen at random. What is the probability that


https://dl.doubtnut.com/l/_CRQBvQvaw1dp
https://dl.doubtnut.com/l/_1YYhSc4tjZhK
https://dl.doubtnut.com/l/_sSourKyzO3ml

more than one vowel will be selected?

° Watch Video Solution

84. A bag contains 50 tickets numbered '1,2,3, ...,50: of which, five
are drawn at random and arranged in ascending order of
magnitude (z; < x5 < x3 < x4 < x5) Find the probability

that z3 = 30

° Watch Video Solution

85. Four persons are to be chosen at random from a group of 3
men, 2 women and 4 children. Find the prébability of selecting:"
(i) 1 man, 1 woman and 2 children (ii) exactly 2 children (iii) 2

women

° Watch Video Solution
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https://dl.doubtnut.com/l/_k8xEDRAUs3Ev

86. A box contains 10 bulbs, of which just three,are defective. If a
random sample of five bulbs is drawn, find the probabilities that
the sample contains: i) exactly one defective bulb

(ii)exactly two defective bulbs

(iii) no defective bulbs.

° Watch Video Solution

87. Five marbles are drawn from a bag which contains 7 blue
marbles and 4 black marbles. What is the probability that
(i) all will blue?

(ii) 3 will be blue and 2 black?

o Watch Video Solution



https://dl.doubtnut.com/l/_k8xEDRAUs3Ev
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88. Find the probability that when a hand of 7 cards is drawn

from a well shuffled deck of 52 cards , it contains all kings

° Watch Video Solution

89. In a single throw of three dice, determine the probability of
getting (i) a total of 5.
(ii) a total of at most 5

(iii) a total of at least 5.

° Watch Video Solution



https://dl.doubtnut.com/l/_xtSreqWPkwIb
https://dl.doubtnut.com/l/_0DJex5mnILQd

